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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 7 rFkk iz'u 24 gSaA 
 Please make sure that the printed pages in this question paper are 7 in number and 

it contains 24 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

SET : C 

MAP 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    

 (i) lHklHklHklHkhhhh    iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nsaA  

 (iv) iz'u la[;k 24    fo'ofo'ofo'ofo'o ds ekufp= dks Hkjus ls lacaf/kr gSA 

 (v) fo'o ds ekufp= dks Hkjdj viuh mÙkj&iqfLrdk ds chp etcwrh ls ck¡f/k,A 

 (vi) ekufp= ij viuh mÙkj&iqfLrdk dk Øekad vo';vo';vo';vo'; fy[ksaA 

General Instructions :    

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it.  

 (iii) Answer the questions according to their marks. 
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 (iv) Question No. 24 is related to filling the outline map of the World. 

 (v) After filling the map of the World it should be securely tied in the middle of 

the answer-book. 

 (vi) You must write your Answer-book Serial No. on the map. 

  1. uo-fu;frokn dh vo/kkj.kk fdlus izLrkfor dh Fkh \ 1 

 (A) fxzfQFk Vsyj (B) Cyk'k  

 (C) gafVaXVu (D) fjVj 

 Who proposed the concept of Neo-Determinism ? 

 (A) Griffith Taylor (B) Blache  

 (C) Huntington (D) Ritter 

  2. Qwyksa dk c<+uk dgykrk gS %  1 

 (A) Vªd [ksrh (B) dkj[kkus dh [ksrh 

 (C) fefJr [ksrh (D) Qwykas dh [ksrh 

 Growing of flowers is called : 

 (A) Truck farming (B) Factory farming 

 (C) Mixed farming (D) Floriculture  

  3. buesa ls dkSu&lh xfrfof/k fnYyh] eqEcbZ] psUubZ vkSj dksydkrk eas lcls vf/kd jkstxkj iznku djrk gS \ 1 

 (A) izkFkfed (B) prqFkZd 

 (C) f}rh; (D) lsok 
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 Which one of the following sectors, provides most of the employment in Delhi, 

Mumbai, Chennai and Kolkata ? 

 (A) Primary (B) Quaternary 

 (C) Secondary (D) Service 

  4. buesa ls dkSu&lk vykSg /kkrq gS \ 1 

 (A) ,Y;qfefu;e (B) rk¡ck 

 (C) tLrk (D) yksgk 

 Which is the non-ferrous metal ? 

 (A) Aluminium (B) Copper 

 (C) Zinc (D) Iron 

  5. 2001 dh tux.kuk ds vuqlkj] fuEufyf[kr esa ls Hkkjr ds fdl jkT; esa uxjh; tula[;k dk vuqikr 
lcls vf/kd gS \ 1 

 (A) rfeyukMq (B) egkjk"Vª  

 (C) dsjy (D) xqtjkr 

 Which one of the following States has the highest proportion of urban 

population in India according to 2001 Census ? 

 (A) Tamil Nadu (B) Maharashtra 

 (C) Kerala (D) Gujarat 

  6. lkekftd Hkwxksy ls vkidk D;k vfHkizk; gS \ 1 

 Define Social Geography. 
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  7. mPp tula[;k o`f) ds dkj.k gksus okyh ,d leL;k dk mYys[k dhft,A  1 
 State a problem caused by high growth of population. 

  8. dkSu&lk vkjs[k vk;q&fyax lajpuk dks n'kkZrk gS \ 1 
 Which diagram shows age-sex structure ? 

  9. Hkkjr dh tula[;k o`f) ds bfrgkl esa ^MseksxzkfQd fMokbMj* ds uke ls tkuk tkus okyk o"kZ dkSu&lk   
gS \  1 

 The year known as 'Demographic Divider' in the history of population growth in 

India. 

10. tula[;k o`f) ls vki D;k le>rs gSa \ 1 
 What do you mean by Population Growth ? 

11. fyaxkuqikr dks ifjHkkf"kr dhft,A 2 

 Define the term Sex-ratio. 

12. ^esxk flVh* ls vkidk D;k vfHkizk; gS \ 2 

 Define 'Mega City'. 

13. ;qok] o;Ld vkSj o`) vk; lewgksa dh lhekvksa dks ifjHkkf"kr dhft,A 2 

 Define the limits of young, adult and old age groups. 

14. Hkwfe {kj.k ¼Hkw&fuEuhdj.k½ ls vkidk D;k vfHkizk; gS \ 2 

 What do you mean by land degradation ? 

15. fo'o eas tula[;k ds forj.k dks izHkkfor djus okys fdUgha rhurhurhurhu HkkSxksfyd dkjdksa dks mnkgj.k lfgr 
le>kb,A 3 

 Explain with example any three geographical factors which influence the 

distribution of population in the World. 
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16. ^vk;rkdkj vf/kokl izfr:i* vkSj ^js[kh; vf/kokl çfr:i* ds chp vUrj Li"V dhft,A 3 

 Distinguish between 'rectangular settlement pattern' and 'linear settlement 

pattern'. 

17. Hkkjr esa izokl ds ik¡pik¡pik¡pik¡p ifj.kkeksa dk o.kZu dhft,A 3 

 Describe the five consequences of migration in India. 

18. Hkkjr ls ok;q iznw"k.k ds fdUgha rhurhurhurhu nq"izHkkoksa dks mi;qDr mnkgj.k ysdj le>kb,A 3 

 Explain any three ill effects of air pollution with suitable example from India. 

19. Vªkal-lkbcsfj;u jsyos rFkk Vªkal-dSusfM;u jsyos esa vUrj Li"V dhft,A 5 

 Distinguish between Trans-Siberian Railway and Trans-Canadian Railway. 

20. Hkkjr eas efyu cfLr;ksa esa jgus okyksa dh fdUgha rhurhurhurhu izeq[k leL;kvksa dk fo'ys"k.k dhft,A 5 

 Analyse any three major problems of slum dwellers in India. 

21. pk; dh [ksrh ds fodkl ds fy, vuqdwy HkkSxksfyd ifjfLFkfr;ksa dk laf{kIr fooj.k nhft,A Hkkjr esa pk; 
ds mRiknu rFkk forj.k dk o.kZu dhft,A 5 

 Give a brief account of favourable geographical conditions for the growth of Tea 

cultivation. Describe the production and distribution of tea in India. 

22. Hkkjr ds lHkh yksgk vkSj bLikr la;a= izk;}hih; iBkj rd gh lhfer gSa] D;kas \ le>kb,A 5 

 Why are all Iron and Steel Plants of India located in peninsular plateau ? 

Explain. 

23. ßtyekxZ ;kf=;ksa vkSj dkxksZ ¼Hkkj½ ;krk;kr nksuksa ds fy, ifjogu dk ,d egÙoiw.kZ lk/ku gSAÞ fVIi.kh 
dhft,A 5 

 "Waterways are an important mode of transport for both Passenger and Cargo 

traffic." Explain it. 
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24. fn, x, fo'ofo'ofo'ofo'o ds js[kk-ekufp= ij fuEufyf[kr dks vafdr dhft, % 1 × 5 = 5 

 Show the following on the given outline map of the World : 

 (i) isfjl 

  Paris 

 (ii) fj;ks&Mh&tsusfj;ks 

  Rio-de-Janeiro 

 (iii) nqxkZiqj 

  Durgapur 

 (iv) mn;iqj 

  Udaipur 

 (v) dksfPp 

  Kochi 

S 


